Pass by Value

static void m_int(int x, int y) { Was wirc ausgegeben?
int temp = Xx;

) ;’( ; éc/émp; (1) 111;E A

static void m_arr(int[] x) { (2) 1,2,ETH

| xle1 = (3) 2.1 ETH

static void m_str(String x, String y) { _
X = y; (4) 2,2,ETH

}

public static void main(String[] args) { (5) 1,1,EPFL
el X a2 .

ring name = 5 -

m_int%x[@], x[1]); (6) 1’2’E -
m_arr(x); DF
m_str(name, "EPFL"); (7) 2;1;E -
Out.println(x[@] + "," + x[1] + "," + name); _

} (8) 2,2,EPFL




Erklarung |

static void m_int(int x, int y) {

}

Out.println("2: x=" + x + ", y=" + y);
int temp = x;

X = y;

y = temp;

Out.println("3: x=" + x + ", y=" + y);

public static void main(String[] args) {

int 1 = 1;

int j = 2;

Out.println("1: i=" +1i + ", j=" + j);
m_int(i,J);

Out.println("4: i=" + i + ", j=" + j);

Ausgabe:
1:i=1, j=2
2: x=1, y=2
3:x=2,y=1
4:1=1, |=2



Erklarung Il

static void m_arr(int[] x) {
x[@] = x[1];
}

public static void main(String[] args) {
int[] a = new int[2];

al[o] = 1;
al[l] = 2;
Out.println("1: a[@] = " + a[@]
+ ", al[l] =
m_arr(a);
Out.println("2: a[@] = " + a[@]
+ ", al[l] =

t o+ all]);

t o+ all]);

Ausga
1: a[0]

ne:
=1,a[l] =2

2:a[0

=2 a[1] =2



Erklarung Il

static void m_str(String x) {
Out.println("2: x= " + Xx);
x = "EPFL";
Out.println("3: x= " + Xx);

}

public static void main(String[] args){
String name = "ETH";

Out.println("1: name= " + name);
m_str(name);
Out.println("4: name= " + name);

}

nName

Ausgabe:
1: name=ETH
2:x=ETH
3: x= EPFL
4: name=ETH
° ; ETH
Y > EPFL




Pass by Value

static void m_int(int x, int y) { Was wirdc ausgegeben?
int temp = Xx;

) ;( ; éc/émp; (1) 111;E i

static void m_arr(int[] x) { (2) 1,2,ETF

} x[0] = x[1]; (3) 2 1 ETH

static void m_str(String x, String y) { " _
tic v )(4) 2,2,ETH

}

public static void main(String[] args) { (5) 1,1,E3:_
int[] x = {1,2};
Stri = "ETH"; PF
m_;;'rg?xrg]g?? x[1]); (6) 1’2’E B
m_arr(x); =
m:str‘(name, "EPFL"); (7) 2,1,E3 _

. . l ")" "J" .; [
} Out.println(x[0] + + x[1] + + name) (8) 2,2,E3'_




